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(o
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
HESA W 5,063,853 4,649,273 414,580
= 17,014
= 64,712
Al 4,982,127
HESAN2YE 4,723,803 4,372,826 350,977
= 17,014
o= 42,347
Al 4,664,442
AMBIAE S =& 1,900,791 1,461,283 439,508
= 3,360
o 15,056
Al 1,882,375
HAIOIE £ 24 170,233 285,018 AN 114,785
201 et 9| 350 500 A 150
01 AP 2t 2] d| 350 500 A 150
OEHoWY & =20 Hy =4A =5 350
207 S0 & 169,883 189,518 N 19,635
02 & AHJH Y| 169,883 189,518 N 19,635
OZHOIX |A2el 169,883
-MHE ESHOIX 2 215
11,064,400 = 128 132,773
-0B ¢sstZz ) 2 5=
1,242,250& ~ 128 14,907
-8 U AlE 2 hE 1,347 ,750& * 128 16,173
- EHO0IX E0¢o =8 (5%)
1,206,000& * 5& 6,030
HBAAE E§ X222 350,000 288,000 62,000
201 et d| 285,000 288,000 A 3,000
02 332%H| 285,000 288,000 A 3,000
OFBANAE S8 KX &2lt]
23,750,000& * 12€ 285,000
405 XHoHFE S HI 65,000 0 65,000
01 JHMtY =2 E F S H 65,000 0 65,000
OFBANAE &5 AE2 X DA
65,000,000& * 14 65,000
HESNE 2Y(ZHEX) 22,500 22,500 0
= 2,000
Al 20,500
201 et 22,500 22,500 0
& 2,000
Al 20,500
01 AP 22| H| 22,500 22,500 0
OFESnNE i #¢ 5,000& * 4,500 22,500
& 2,000
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201 Yet2 | 131,373 123,843 7,530
01 At 22/l 131,373 123,843 7,530
OZFEstussd 4235 7¢ 3,733
—-ZefH EY 192,940& = 20 * 43| 1,544
- =S AEX 19,4202 » 209 A 389
-ANEES 1,800
O&¥Estus 2= ME 2,500,000& * 13 2,500
OZFEstus Aef2A =&
25,000& = 4,600A] 2+ 115,000
OZFEstusxd A2l 2,700
OO0tz ICT MEwa A=
500,000 = 2Y « 43| 4,000
OZ223d ZF2XNACUHE 23| 3,440
202 O4dl 4,000 4,000 0
01 S LHAYI 4,000 4,000 0
OFEstus FAOHI 4,000
203 R =&l 2,000 2,000 0
03 A FAH S =AY 2,000 2,000 0
O&Estu=s PRFAH| 2,000
L2302 43 (ZHEX) 16,000 10,000 6,000
< 6,000
Al 10,000
307 21201 A 16,000 10,000 6,000
< 6,000
Al 10,000
04 DIZFHALALSE E X 16,000 10,000 6,000
OZEs0ES Mg A
8,000,000& * 2JH0t= 16,000
< 6,000
Al 10,000
2302 E483H(NHMMHA) 103,000 18,000 85,000
201 2et2 Y| 11,000 6,000 5,000
01 Ak 2reltl 11,000 6.000 5,000
O&Esi0s g4dst X 6,000
OlsZ2s0ts Z24dH OldM TE 2+e
SIES 5,000
207 A& 8,000 8,000 0
02 & AR I 8,000 8,000 0
OZ&Zsl0ts 2HO0IX 28= 294
4,000,000& = 2JH0t= 8,000
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OZEs0E /I35 ¥ 32 FAL 243
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401 Al HI K 201 I 70,000 0 70,000
01 A& Hl 70,000 0 70,000
OUs3=23s0t2 F2HH 2228 I A 70,000
405 RHoHE S HI 10,000 0 10,000
01 et EFSFHSHI 10,000 0 10,000
OUsZ=2=0tE Z2MH ARE &I #2 10,000
FBs0s T 02 NSHNA (IHIER) 26,880 27,432 A 552
= 3,360
= 7,056
Al 16,464
307 21201 A 26,880 27,432 A 552
= 3,360
< 7,056
Al 16,464
02 QItFAAHE X 26,880 27,432 A 552
OXLE0IS Z2 022X SHXIA(22d])
1,400,000& * 2H » 128 * 80% 26,880
= 3,360
< 7,056
Al 16,464
dBosz 02 NSE X2 (KM IHH) 6,160 5,500 660
307 21201 A 6,160 5,500 660
02 IAtFAAHEX 6,160 5,500 660
O&E3s0ts Z20dac S8 X3 6,160
-g&3 1,400,000& * 2% 2,800
-4 EH
1,400,0002 * 28 = 120H& = 10% 3,360
dE3 XA 57,000 58,650 A 1,650
201 L2l 57,000 58,650 A 1,650
01 At 22l 57,000 58,650 A 1,650
OPCR=&EZE 235 +2dl  27,000& = 1,000CH 27,000
OME2 PC £ HI 100,000& * 50CH 5,000
OPCR=&HA =cltl 25,000 = 1,000CH 25,000
NEFE MHA &5 1,011,645 616,340 395,305
201 et 3,600 5,400 A 1,800
01 At 22l 3,600 5,400 A 1,800
OVIAMYIHE DIAISALAT &F B
2 =g 200,000& = 8% « 13 1,600
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80,000& =« 1504 1,200
202 O4dl 2,000 2,000 0
01 =S LH YI 2,000 2,000 0
OZF3.05 ZESIAMY |A3s & MOILE A
04 dl 2,000
207 A&y 360,600 165,022 195,578
02 & AR I 360,600 110,022 250,578
OICTIIE ATIE 22 2E= 1=
200,000,000& * 14 200,000
OPIRNERME A4gTz0y SX el
70,400,000 * 12% = 8&/12& 5,632
O NESAIAE(SMS) Sl
41,400,000& = 12% 4,968
OUI0OIH &2 elAAE 2F 150,000
307 glz2+ol & 445,445 443,918 1,527
05 RIZHRI &3 445,445 443,918 1,527
OUIANYZHE DI AL 445,445
—AAE X2 3,256,000& * 128 39,072
- &g Ay 32,423,340 * 128 389,081
-NdZ3H AR S 1,441,000& * 128 17,292
308 XXM SO0 A 200,000 0 200,000
1037/ 2SoHUHeB A ALS I 200,000 0 200,000
O33 4dold 24 200,000
HHYFE D& 1,143,166 856,804 286,362
= 13,654
Al 1,129,512
2-LictAl2a8 29 23,220 23,061 159
308 XXM S0 A 23,220 23,061 159
10 3J/ 2SS AEHALS I 23,220 23,061 159
O2-LietAl A8 S22l 23,220
XA SSIAIAE S53H WH(=HEX) 41,918 41,918 0
2 9,464
Al 32,454
201 et 41,918 41,918 0
2 9.464
Al 32,454
01 At 22l 41,918 41,918 0
OzSJIet ==&dl WM celA= 41,918
= 9,464
Al 32,454
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XS SSHHHHSHH PEXNS (BHEX) 18,115 24,479 16,364
= 4,190
Al 13,925
201 £B-2d| 18,115 24,479 26,364
= 4,190
Al 13,925
01 At 22/l 18,115 24,479 26,364
O33JI8t =S AAE =5 Ul claz 18,115
= 4,190
Al 13,925
SSIIEAIAE 2 466,730 233,106 233,624
201 LBt 35,290 33,222 2,068
01 At 22l 2,050 2,576 A 526
ORQoIAESI 225 7 1,500
OMES HXNRJAER FSUHE S22 550
02 =224l 33,240 30,646 2,594
ORQoIALZI| A2l
415,500,000& * 8% 33,240
202 o4dl 3,000 3,000 0
01 = LH 4 1l 3,000 3,000 0
OH#HFEEs FRFA 04l 3,000
207 A RO H| 1,650 1,650 0
02 & AR 2] 1,650 1,650 0
OMZ Oi&AM & ol |X2eldl
6,000,000& = 12% 720
OM= Sg=z1¢ SS0 RAl2eltl
6,200,000& = 15% 930
308 XX SIS0 & 120,790 123,234 A2,444
10 2|2 SOITHEHE AR & AL b 120,790 123,234 N2, 444
OZ3J|gt d&EHl SX2eltl
1,612,971,430& * 7% 112,909
OZ3JIEt Mol =S 2AIAE S X2l 1,721
OMS8IAIAE MUlAOAT 292RY2 6,160
403 RXI S A S Xt =0l & 306,000 72,000 234,000
02 SO 2SO0CHSH A2 X CH &l AF I 306,000 72,000 234,000
OSSIIEtAIAE “=&Hl WA 306,000
-33JI8t 88 AECX LAl 110,000
-SSJIB2 APAH A & &SSWHd0E 196,000
HAIY, SN2y 2o 593,183 534,240 58,943
201 Let2d] 188,000 125,660 62,340
01 At 22l 188,000 125,660 62,340
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OHIHRE A2ZTEANH P2 186,000
—-8=2 Ul 194,000& * 3002 58,200
-NMSQIlA 2016 = 450,000& = 30= 13,500
—MSQI A 2016 ABHOHE
381,000& * 3002 114,300
OZ1PC =&l 100,000& * 20CH 2,000
207 & 51 OH £ Hl 11,503 10,180 1,323
02 & AR I 11,503 10,180 1,323
OJAXNJAAAE KX 2elbl
28,100,000& * 10% 2,810
OZdIEANAE Rl
29,600,000& * 10% 2,960
OXtat2 2l AlA " KX 22l
44,100,000& = 13% 5,733
405 XtAHE SHI 393,680 398,400 A4, 720
01 AL EFH S 393,680 398,400 A4, 720
OdE MoFH 2 393,680
-=% ZEH DH(2H)
804,800& = 300CH 241,440
—ARAEE AFH(2H)
804,800& = 50CH 40,240
-=% 2LUH N 221,320& * 110CH 24,346
—MURAREE 2UH 221,320& = 5004 11,066
-LES 1,066,360 * 6CH 6,399
— I 2lE (A4) 452,700& = 100CH 45,270
— I 2IE{ (A3) 1,991,880 * 10CH 19,919
- A4 250,000& = 20CH 5,000
2SS4 olZer F 1,528,246 1,822,999 A 294,753
< 27,291
Al 1,500,955
2EMY 2 (ZHIEX) 54,582 77,654 223,072
< 27,291
Al 27,291
201 2et24d] 54,582 77,654 A 23,072
< 27,291
Al 27,291
02 232gHl 54,582 77,654 223,072
O=JIEE2S8Y AEEZ 54,582
< 27,291
Al 27,291
SSHY 2 (HMM) 723,216 896,028 A172,812
201 Yet2 | 723,216 896,028 A172,812
02 =224l 723,216 896,028 A172,812
oelgy sldz 83,076
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—QHY ME3 M AEZ
2,129,000& * 23l& * 12& 51,096
— o3 MYE QIHY AIER
1,032,000& * 12&8 12,384
-QIHUESE S8
350,000 * 23| & «12& 8,400
—wsSHEBHAH AHY M
450,000& = 12& 5,400
-dE2024H 4B
34,5003 = 1404 ~ 123 5,796
OUERZ &8 38z 159,600
— Al &SI WERZA 8838z
700,000& = 18314 = 128 151,200
- SFo0ALZI &=
100,000& » 33/ & » 12& 3,600
—ogzIRUYI| HEIME
40,000& = 103l & = 128 4,800
OAU NS 8238 AAEZ 48,624
~dgE Mo s
33,000& = 183/ & = 12& 7,128
-2 X4 26,000 * 1333/ & * 12& 41,496
Ogtetdst AIE = 232,800
-s3= 100,000& = 190CH » 12& 228,000
-SUHES MEZ 100,000& = 404 = 12& 4,800
Oolsds AtEZ 10,000,000& * 12& 120,000
OHYFAX 01 E & 1,700,000& = 14l = 123 20,400
OMgMHEs SHE= 17,856
- ALHEHRS 20,000& = 6l » 12& 1,440
- =2 H SLHAER
11,000 » 12014 « 12& 1,584
- EAHEZE SUHERS
6,000 * 7IHA +12E 504
—COMA t=S4HEE R=
6,000& * 1993l & = 128 14,328
OZ2XTSAIAE(SMS) 24l 40,860
— CH2 0 AL XI (80T
11& = 150,00024  12&8 19,800
- & 20 Al X (750Kt)
273 * 65,0004 « 123 21,060
FEBSHAE D& 484,500 203,800 280,700
405 TtobH S| 484,500 203,800 280,700
01 AL EFH S 484,500 203,800 280,700
OIP&E I 2 600,000& = 150CH 90,000
OPOE 291X 2¢ 3,650,000 = 10CH 36,500
OQHY JASSAIAE Wi P2
200,000,000 = 14 200,000
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207 & O] 140,300 220,440 A 80,140
01 284 70,000 150,000 A 80,000
OFEAAY BotxF Xk 829 70,000
02 ™A I 70,300 70,440 A 140
Otold A A ZZ 2 2¢ 53,250
-&3A PCE 25,500& = 2,000User 51,000
-¥E2 NHE 450,000& = 504 2,250
OUSB Eotate| AlAE J Xl 2teldl
36,000,000& * 10% 3,600
OYRE PCMAEESLSS AMAE FX22
82,100,000& = 10% 8,210
OPCEHHAH Xt AlAE FX2eldl
52,400,000& = 10% 5,240
24 259,856 196,253 63,603
< 22,365
Al 237,491
AKX E 2el 259,856 196,253 63,603
< 22,365
Al 237,491
sH el 30,649 30,649 0
201 YEt2 | 28,849 28,849 0
01 At 221l 28,849 28,849 0
OZdoiSH LI &2t 10,000& * 5008 5,000
OSHAE &2t 20,000& = 350% 7,000
O#EXNE M= 4,700& = 2,0000H 9,400
OASHZAL ZRE0M 22t
20,000& * 300% 6,000
OSH2el GRF8 =S4l 1,449
202 o4dl 1,800 1,800 0
01 = LH o4 1l 1,800 1,800 0
OsH 22 =& ol 1,800
H EAHEHI2X) 35,185 19,738 15,447
< 22,365
Al 12,820
101 @124l 9,997 0 9,997
< 4,462
Al 5,535
04 JI12ZtHZ22HEE = 9,997 0 9,997
OB AaI Z At 9,997
— ZAt2tel it 1A Hl 56,0903 x 38 x 212 3,534
< 2,020
Al 1,514
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Al 3,886
-4 B8 245
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Al 38
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Al 97
201 et 25,188 19,738 5,450
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Al 7,285
01 At 22l 25,188 19,738 5,450
OB A3l At 25,188
- XANE 3 19,122
m=s 911
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Al 375
= A 18,211
= 11,301
Al 6,910
- XANEE 7Y 6,066
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SH Z ALK THA) 194,022 145,866 48,156
101 @124l 42,773 36,901 5,872
04 DIt 22 HEE = 42,773 36,901 5,872
O A HI = A 36,236
-Saelk 56,090 * 2F * 27 * 80% 2,424
— S ARZEl X 56,0003 * 149 + 27 « 80% 16,962
- ZALXI & 2tel Xt
51,8103 = 3Y = 27 = 80% 3,358
- UHZR 51,8108 » 128 » 222 = 80% 10,943
-4 282 2,549
Sl A2l R, ALK R 2t el Xt
22,744,000& * 10% 2,275
AAHZ A 10,943,000& * 2.5% 274
OZH M ZEA 3,470
— ZALZ 2l Xt 56,0003 = 1H » 39 2,188
-dHHER 51,8108 = 1% = 20 1,037
-4 E82 245
A2 el Xt 2,188,000& = 10% 219
AdEUHB R 1,037,000& * 2.5% 26
OZdiAl E4E & At 3,067
— ZAL2 2l Xt 56,0003 = 1H » 9« 505
- UHER 51,810& » 8% = 6 2,487
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EAREIT L YRALHE
2,992,008 * 2.5% 75
201 2Bt | 144,449 102,165 42,284
01 AL 2 el bl 144,449 102,165 42,284
O AT At 120,567
-ZAE E244E
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-ZNBE 2Y 10,0008 = 136% 1,360
—EREA0 M 55,0002 * 250K 4 1,375
-ZANEE S MR 1008 * 9,000 900
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o= 80, 194 80, 194 0
Jl= 2l 80, 194 80, 194 0
201 YEr2 | 19,354 19,354 0
01 AbR 22t 19,354 19,354 0
OIETES= 2,760
—Jlg AR EY 6,500
~JlEt +84l 2,100
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